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O.M.R. Answer Sheet and ensure that :

- Serial number of Question Booklet (QB)
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Sheet. No claim/objection in this regard will
be entertained after five minutes of start of
examination, candidate will be liable for the
same.
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Convert the following sentence from English to

Hindi :

Dr. Gupta will buy the house that I built last year.

(A) =TI R R @R |

(B) = irw fusel A A MR A RE |

(©) . T g8 TR g ot ot #+ fose are
AT AT |

(D) ¥, AT I8 TR TR ST H foreset HTe s
g7 |

(E)  Question not attempted

Convert the following sentence from Hindi to
English :

H TSP ATATHE |

Choose the most appropriate answer from the
options given below :

(A) Iamstressed about something.

(B) Iamstressed these days.

(C) Iamtensed today.

(D) IwishIcould justrelax.

(E)  Question not attempted

Fill in the blank in the following sentence with the
correct tense :

I for jobs on jobhunt.com these days
with the hope that I might get called for
interviews.

(A) has applied

(B)  have applied

(©)  applying

(D)  have been applying

(E)  Question not attempted

Choose the suitable word to fill in the blank in the
following sentence :

I wish to my ties with that
organization.

(A) several (B)  surreal

(C) severe (D) sever

(E)  Question not attempted

% DB29

Choose the most appropriate option to convert

the given Interrogative sentence to an Assertive

sentence :

Was he not kind to help you ?

(A) Heissokind that he decided to help you in
that difficult situation.

(B) He was kind enough to help you.

(C©) He has displayed kindness, has he not ?
(D)  What a kind man he is!

(E)  Question not attempted

Choose the most appropriate option to convert

the given Assertive sentence to a Negative

sentence :

The fort was demolished before it was

surrendered.

(A) The fort was surrendered before it was
demolished.

(B)  The fort was demolished and surrendered.

(C)  The fort was not surrendered until it was
demolished.

(D) The fort was neither demolished nor
surrendered.

(E)  Question not attempted

Choose the option with the correct use of

punctuation(s) :

(A)  We need snacks, drinks and lights.

(B)  The sun having risen : we left for the town.

(C©)  “Iam going tomorrow he” said.

(D)  Prashant likes croissant doesn’t he ?

(E)  Question not attempted

What is the official / technical term for “Complaint

or a cause for complaint” ?

(A) Grievance (B)  Publication

(C©) Sadness (D) Provision

(E)  Question not attempted

Fill in the blanks by matching List-I with List-II :

List-1 List-1I
(@) |They will return (i) |below
6 p.m.
(b) |[You must atone (if) | till
your sins.
(c) |They live us. (iii) | for
(d) |He studied 11 p.m. |[(iv)|by

Choose the correct answer from the options given
below :

(A)  (@)-(v), (b)-(0), (c)-(ii), (d)-(ii)
(B)  (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv)
(©)  (@)-(i), (b)-(iv), (¢)-(iii), (d)-(1)
(D) (a)-(iv), (b)-(ii), (c)-(3), (d)-(ii)
(E)  Question not attempted



10.  Choose the most appropriate option to convert
the given sentence from Active to Passive Voice :
People consider him to be a fair judge.

(A) Heis considered to be a fair judge.
(B)  Hisjudgement is considered to be fair.
(C) Heis considered by people to fairly judge.
(D) Itis hoped that he is a fair judge.
(E)  Question not attempted
11.  Fill in the blank with an appropriate determiner :
milk is left in the bottle ?
(A) How much (B) Any
(C©) Some (D) How many
(E)  Question not attempted

12.  Choose the most appropriate option to convert
the given sentence from Indirect to Direct
Speech :

This morning, he said that he would leave for

Hyderabad the next day.

(A)  This morning, he said, “He will leave for
Hyderabad the following day.”

(B)  This morning, he said, “I may leave for
Hyderabad tomorrow.”

(C)  That morning, he said, “I will have left for
Hyderabad the next day.”

(D)  This morning, he said, “I will leave for
Hyderabad tomorrow.”

(E)  Question not attempted

% DB29

13.

14.

15.

Choose the most appropriate option to convert
the given Assertive sentence to an Exclamatory
sentence :

I ardently wish to have a small house to live in
Goa.

(A) What a small house in Goa!
(B) Itis my wish to live in a small house in Goa.
(©) How I wish for a small house to live in Goa!

(D)  What a pity! I do not have a small house to
live in Goa!

(E)  Question not attempted

Fill in the blank in the following sentence with the
most suitable article.

news you broke to your wife made her
nervous and she broke down.

(A) No article (B) The
required
(©) An (D) A

(E)  Question not attempted

Choose the most appropriate option to replace
the underlined part of the following sentence in
order to make it grammatically correct :

Amrita didn’t knew my address.
(A) didn’t know

(B)  no correction needed

(©) didn’t had

(D) didn’t known

(E)  Question not attempted

P.T.O.



16.

17.

18.

19.

20.

% DB29

“qameT” TTaiad & & Wi gt @ e gt
& AN TITH [FATIATATES 2

(A)  TTeett T (HEIII)

(B)  FHHEIAEE! AT (STETTHIA)

(©) = aTe (HiSTH)

(D) =T =T (TERII)

(B) 31 aRd e

T[STRATA o SN HATS 41 Tt 3R o6l GTRT Tk H1e
AT S AT [T A TN el 68 W™
RREIECES

(A) ¥ (B)
© AT

(B)  3rqaid e

T -FX T STIET Weer % §aw #, UDMA 707 &9
FE?

FATEeS TERe HAsTHe TATet

(B) 37 TEReR AT RO TSTATERT
Q) 37 TEIReT AASTHE TUTHEr
( oo

D) o fEeie HasRad Teiege™

(B)  3rqaid e
frfetiad # | fopwr rfvesees T & ot arfwferan
& TS fazemae srtafraT g 2

A)  CuSO, faera= 3 =g g
B)  NaCl fa@== 3= afa g
C)  FeSO, Taaa 31X qiaT &g
D)  AgNO, @@ SR qfam &g
(B) 3raRd wed

VTR 1 STTOT (2011) F FAR, TSI T H,
TrfeRea @ & forw e 6t Stiee (den ) 9ad
HH AT ?

A) 9I® (B)
Q) drER (D)

(B)  3rIand wed

TqTHHS
SHTHT

17.

18.

20.

The “Nagara” is classified under which of the
following categories of musical instruments ?

(A)
(B) Idiophone

(©)  Chordophone
(D)

Membranophone

Aerophone
(E)  Question not attempted

The famous folk song ‘Humseedo” sung by both
males and females together in the Northern Mewar
region of Rajasthan, belongs to which community ?

(A) Garasia

(©) Meena

Bhil (B)
(D) Sahariya

(E)  Question not attempted

In the context of State-level disaster management,
what is the full-form of UDMA ?

A)  United Disaster Management Authority
B)  Urban Disaster Managerial Administration

C)  Urban Disaster Management Authority

(
(
(
(

o

) Universal Disaster

Administration

Managerial

(E)  Question not attempted

The reaction between which of the following pairs
of reactants, will result in a displacement reaction ?

(A) CuSOy solution and Silver metal
(B) NaCl solution and Copper metal
(C©)  FeSOy solution and Copper metal
(D)  AgNOj solution and Copper metal
(E)  Question not attempted

As per the Census of India (2011), which of the
following districts had the lowest population (in
numbers) in Rajasthan state ?

(A)
(©) Barmer

Churu (B)
(D)

Rajsamand
Jaisalmer

(E)  Question not attempted



21, WRAN TEAT & T TiHT 3T S=aRy 2025 § At
TR ST aTet SO STE3 T Tie T T/ FaT S ?
(A)  ImEuATy. i
(B) IME.UATH. qWIF
(©) IMETATH.IHY
(D)  31E.TA.TH. F91E
(B)  3rIand e

22, TSTEAT H I G AT ST 379 10 IU- =1 o6 feTw
STATSITATE 2
(A) A (B) wTEr
Q) =T (D) ™
(B) 3raRd wed

23.  Teferiad § ¥ BI9-TT Th T ATFdd? 7ot
g9
(A) THUH.TE
(B) =gafa®
O TS HERTT
(D) StramguAd
(B) 31 aRd e

24, U (T H TSIl 1 HTHT, TS Bl AATH 25%
arferep & e ferenfira &1 ot F&AT 1620 % 1315 60 307
TASTRAT [TaTer™ | YT Sdl & a7 80 g Taaetd
BT 2d &, Al TSP BT TWAT BT ASIBAT BT TWAT F
RIPECERICEAUIE
(A) 33:49 (B) 39:41
(C) 20:21 (D) 2:3
(B)  3rIana e

25.  “SEYR B’ (HHH W) o6 uig situfulies a+ &
arteel= # fsfaa fparmam a2
(A) =TT A F. TS (B) =¥t muA
Q)  Sr3m. #gar (D) <. 31T TTTeaT
(B)  3rIand e
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21.

22,

23.

24.

25.

What is the name of the second multi-purpose
vessel built for the Indian Navy and launched in
January 2025 ?

(A)  INS Shakti

(B) INS Samarthak
(©) INS Utkarsh
(D) INS Samrat

(E)  Question not attempted

Which river basin in Rajasthan is known for its
10 sub-basins ?

(A) Luni (B) Mahi

(C©) Chambeal (D) Banas

(E)  Question not attempted

Which of the following is not an Application
Software ?

A) MS Word
B) QBASIC

(
(
(C)  Adobe Photoshop
(D) GIMP
(

E)  Question not attempted

In a school, the number of girls is 25% more than
that of boys and the total number of students is
1620. If 60 more girls are admitted and 80 boys leave
the school, then the ratio of number of boys to that
of girls will be :

33:49 (B)
© 20:21 (D)
(E)  Question not attempted

39:41
2:3

The “Jaipur Foot”, a prosthetic limb, was developed
under the guidance of which renowned Orthopedic
Surgeon ?

(A) Dr. P.K. Sethi (B) Dr. B.K. Goyal
(©) D.R.Mehta (D) Dr. Ashok
Panagariya

(E)  Question not attempted

P.T.O.



26.  IISTEATH BT TSI I - “ ST &T o - [operes grr
T o ?
(A)  FOWBTT SR
(B)  URH 3T
©)  HEST AP
(D)  HeITATe T
(B) 3raRd 99
27. AN, [T qAT N PG H 3 : 4 BT IFA T
TS qY AT 3BT MG H 7 : 9 T AT &R0 | 371
B I G AT 2
(A) 2479 (B) 27°d
© 25a9 (D) 269
(B)  3raRd wed
28.  T(STEAT H BIATHT &S TET Hal RATE ?
(A) 2w (B)  gAreTaTS
© AmiR (D) i
(B) 3raRd wed
29. Tfafad # ¥ U 3T H9ATor Wi % Hid-9
o7 BT T FE TR R 2
(A)  =pa -
(B)  37id - AT
(O ARTR - THTEAS
(D) < - fefeas
(B) 31 aRd e
30. fHHfaEd Afgal & ¥ TR ‘a9 ®f 3m
(21T 31Tt BIE) F ATH ¥ A STATSATR 2
(A)  aREdt (B) oAt
© e (D)
(B)  3raRd e
31 “grai I BAAR!” (FH HAT BT AUE) [Hae forar
AT 7
(A)  THATTH
(B) fastagm e
(©)  FUHASLM
(D)  TeeITeTTe WA
(B) 3raRd wed
% DB29

26.

27.

28.

29.

30.

The iconic song of Rajasthan - “Dharti Dhoran Ri”
- was written by :

(A) Satyaprakash Joshi

(B)  Paras Arora

(C©) Meghraj Mukul

(D)  Kanhaiyalal Sethia

(E)  Question not attempted

Two years ago, the ratio of ages of Vinay and Ashu
was 3 : 4. One year hence, the ratio of their ages will
be 7 : 9. What is the present age of Ashu ?

(A) 24 years (B)
(C) 25years (D)
(E)  Question not attempted

27 years
26 years

Where in Rajasthan is the Kolana Airport located ?
(A) Tonk (B)
(©) Nagaur (D)
(E)  Question not attempted

Jhalawar
Sikar

Which of the following pairs of enzyme and site of
synthesis is NOT correctly matched ?

(A) Liver - Bile

(B) Intestine - Maltase

(C) Salivary gland - Amylase
(D)  Kidneys - Trypsin

(

E

~

Question not attempted

Which of the following rivers is also known as
“Van-Ki-Asha’ (Hope of Forest) ?

(A) Parbati (B)
(©) Kalisindh (D)
(E)  Question not attempted

Luni

Banas

“Batan Ri Phulwari” (collection of folk tales) was
written by :

(A) Shyamal Das

(B)  Vijaydan Detha
(©) Nathmal Joshi

(D)  Kanhaiyalal Sethia
(

E)  Question not attempted



32.

33.

34.

35.

36.

37.

% DB29

HAIEHETE TS (Microsoft Word) H AT TRT FHT
i AT IgcTd & [eTT Bie ATZS T Tl HI

3Tfeehe it HI-ATE ?

(A) Ctrl + Shift + P

(B) Ctrl+V

(C) Ctrl+P

(D)  Shift +F

(B)  3rgana ued

ATET AR IR &Y F ST & E]
H yferas AT ST R |

(A)  gaTTE (B) TowiEr

(©)  atwaTsT (D)  FRE

(B)  3raRd e

2011 ST & IR, frferiad # 9 o frer
B HTGRAT TR 75% T 37Tereh o 2

(A) et (B) 3R

©) IAHTH (D) SR

(B)  3raRd e

TSR 7 7 & TAT $FeaT I 179-2025 F HI9-71
T T {6t 2

(A) g (B) facta

© wE (D) d=H

(B)  3rqaRd e

I A1S 3T AHOT T HHg TerEd § J fhg
T &b TG HATBR & ?

(A) deEATEd (B) TR

(© warg D) T

(B)  3rfana e

TR TS 202526 F AR, TT # {oha-

T les TRIUH % AT I TSI TS TS 2

a) 9 (B) 20
© 15 (D) 8
(B)  3rIand wed

32.

33.

35.

36.

37.

Which Shortcut key is used for opening the Font
Size Box in Microsoft Word to change the Font Size
of selected text ?

(A) Ctrl + Shift + P

(B) Cul+V

(C) Cul+P

(D) Shift+F

(E)  Question not attempted

The Mahi Mahotsav is officially celebrated in the
region of Rajasthan every year.

(A) Pratapgarh (B) Sirohi

(C) Banswara (D) Dungarpur

(E)  Question not attempted

According to the 2011 Census, which of the
following districts had a literacy rate above 75% ?

(A) Kota (B) Alwar

(©) Jaisalmer (D) Jalore

(E)  Question not attempted

What position did Rajasthan secure in the 7th Khelo
India Youth Games-2025 ?

(A) Third (B)
(C)  First (D)

Second
Fifth

(E)  Question not attempted

Mangi Bai and Lakshman Das Kamad are the
prominent dancers of which of the following dance
forms ?

(A) Terah Taali (B)
(©) Bhavai (D)

Ghoomar
Bum

(E)  Question not attempted

According to the Rajasthan Budget 2025-26, how
many greenfield expressways are planned to be
constructed in the State ?

A 9 (B) 20
(© 15 (D) 8
(E)  Question not attempted

P.T.O.



38. ToATeTiEd § A he TSTRAT & HieT | 1857 &I
ST BT T TR AT 2
(A) A
(B)  TH I g @XaT
©) e
(D) eI« E
(B)  3raRd 99
39. 2011 I STAIUTAT & IR, TSEATH H TTHIT &7
TTAD/TTIABT (0-6 T THE ) T TTaT o7 -
(A) 933 (B) 911
(C) 874 (D) 892
(B)  3raRd e
40. THUH, THA ¥, METEaNEd 7 B-A7 BRE
T3S o ATehT &1 H Th ol B THI (IR YTt
3R/AT HITH BT GIITHT AT TATE ?
(A)  Ryepra wpifenT
(B)  TE AHIT
© wEATY
(D) wiraw
(B)  3raRd e
41, “Iearg uRadq” & fag fefatad 7 9, feast
BRI AT SATE ?
et Tarepedt # ¥ T Saga ST I
(A) TSI & faeTe &1 T &/ TR
(B)  37ATReT H IcehTITTATEIT BT A@T
©) T # fEaag T A gis
(D)  =H |G Ty
(B)  3raRd e
2. A 2025 H FATCTE § | 69 TSTeT aieh Jel
HNT BT 3reaet T fopam o 2
(A) R fiees
(B) wu=TE
(©) IPATHEE
(D)  TiaT 3
(B) 31 aRd e
% DB29 8

42,

Who among the following led the Revolt of 1857 in
Kota, Rajasthan ?

(A) Mehrab Khan
(B) Ram Gopal Singh Kharwa
(©)  Kushal Singh
(D)
(E)  Question not attempted

Hardayal Singh

In the rural area of the Rajasthan, the sex-ratio of
(0-6 age group) of children (female/1000 males) in
2011 was :

(A) 933 (B)
(© 874 (D)
(E)  Question not attempted

911
892

In MS Excel, which of the following functions
allows one to keep specific rows and/or columns
visible while scrolling through the rest of the
worksheet ?

(A)  Synchronous Scrolling
(B)  Smart lookup

(C©) Custom View

(D)  Freeze Panes

(

E)  Question not attempted

“Climate change” is considered a causal factor of
which of the following phenomena ?

Choose the most appropriate answer from the
options given below :

A)  Low risk of species extinction
B) Increased meteor activity in the outer space

(
(
(©) Increased glacier formation in the Himalayas
(D) Extreme weather events

(

E)  Question not attempted

Who among the following has been appointed as
the Chairman of the Rajasthan Public Service
Commission in June 2025 ?

(A)  Shiv Singh Rathore

(B) Bhupendra Singh

(C)  Utkal Ranjan Sahoo

(D) Sangeeta Arya

(E)  Question not attempted



43. TR WISTHT THAEEH AL :
(A) NaHCO4 (B) NayCOj
(C) CaSO, (D) CaOCl,
(B)  3rIana e
4. Topd AT H HIg YT FTEMROT ST IX 10% AT
R A T Y A I B ST 2
(A) 2099 (B) 25°9
© 3zoay (D) 15a9
(B)  3rgana ued
45.  TSTRATA ¥ WTEE 3 WHE “STor A1 /i f6e
e & ATG I RUTE 2
Frrfeiaa farspeat # & Wer U 3% I :
(A) TF (B) dHER
© ¥ D) EH
(B)  3raRd e
46. P AT THGlG AT B (BT I W 3 99 |
% 6,65,500 311X 5 T H T 8,05,255 & ST & | ATE <AT=T
T GISTa S TET 8, A TE ORTFTE 2
(A) % 5,00,000 (B)  ¥5,25,000
(C) T 4,80,000 (D) ¥ 4,92,000
(B)  3rqaRd e
47. I UTRY A quT B {RET SHT BT HHI: 40 TS qe
50 THAe | WX Il 2| e ST UTgy U AT Wit
TS Y Tepa o (TH=et /) & T U1gT A & o fopam
ST AT {56 €96t 30 THee § R STTT 2
(A) 15 (B) 15%
(©) 16 (D) 14
(B) 3TARd e
48. frfafea # @ fpa g & IR ehier Fam T o
ST 2
(A)  TUester (B) TR
© TSEEE (D) SEwHg
(B) 3raRd wed
% DB29

43.

44.

46.

47.

The chemical formula of Baking Soda is :
(A) NaHCO;4 (B) NayCOj
(G CaSOy4 (D) CaOCly
(E)  Question not attempted

In how much time, a sum of money becomes three
times of itself at a rate of 10% per annum simple
interest ?

(A) 20 years (B)
(C©) 30 years (D)

25 years
15 years
(E)  Question not attempted

The most important ancient “Jeen Mata Temple” in
Rajasthan, is located near :

Choose the most appropriate answer from the
options given below :

(A) Churu (B)
(C©) Sikar (D)

Bikaner
Jhunjhunu

(E)  Question not attempted

A sum of money becomes X 6,65,500 in 3 years and
% 8,05,255 in 5 years at certain rate of compound
interest. If interest is being compounded annually,
then what is the sum ?

(A) ¥5,00,000 (B)
(C) 4,80,000 (D)
(E)  Question not attempted

% 5,25,000
% 4,92,000

Two pipes A and B can fill a tank in 40 minutes and
50 minutes respectively. If both the pipes are
opened simultaneously, then after how much time
(in minutes) should pipe A be closed so that the tank
gets filled in 30 minutes ?

(B) 15—

(A) 15 ;

(©) 16 (D) 14
(E) Question not attempted

Which of the following lakes is also known as the
‘Dhebar Lake’ ?

(A)
(©) Rajsamand

Pichola (B)
(D)

Pushkar
Jaisamand

(E)  Question not attempted

P.T.O.



49.

50.

51.

52.

53.

WA & Alaer= &7 a7 S aret diaam a9 |
Tepe=Tt g gawg ot 2

a) 15

Q) 20

(B)  3rgaia e
TSTRATA T frTmT 5t e RAie 2024-25 % 3T,
TrTeTia gt # o TFEH $ot I g1, [alra®
27

(B) 30
(D) 24

—~

TrferRad faeedt # 9 qed SR ST I :
(A) TS (B) <iw®
© 3T (D) 3R

(B)  3rfana ued

T H B I-|T TR # S T BT T T2
HAT & ST FGAIR T H AT SAATE 2

(A) U 7T HeT

(B) W Ha

© Tl FHeTorsTt AT

(D) it AT #eT

(B) 3raRd wed

A, B 31X C o THT {921 % AT ATISRY 9 B
HEM AT, B 7 379 7197 Y 509% TIT 6T 37T Forarer
TeRaT QT C = 319 TA9r ¥ 20% TRT BT 3T Fodar
TFaT| a9 & 3Tq A TG A BT 22,800 ATHIRT THAT, ¥
T ATH AT B |

(A) % 80,920 (B) % 81,700

(C) T 78,600 (D) % 79,500

(B) 3raRd wed

Y 2025 H TR ¥ HHfarad # ¥ f6d o7 it
T AT g3 E ?

(A) IS HURT

(B)  3raf =Ry

©) FATHR

(D)  SHEIA

(B)  3rIand wed

% DB29 10

49.

50.

51.

How many women members were part of the
Constituent Assembly that formed the Constitution
of India ?

(A) 15
) 20
(E)

(B) 30
(D) 24
Question not attempted

According to Rajasthan Forest Department Annual
Report 2024-25, which of the following regions has
maximum total forest area ?

Choose the most appropriate answer from the
options given below :

(A)
©

(E)

Rajsamand Tonk

(B)

Udaipur (D) Ajmer

Question not attempted

Which of the following is the largest Jain fair in
Rajasthan that is celebrated in Chandanpur
village ?

(A) Kapil Muni Fair
(B)  Bhartrihari Fair
(C©) Diggi Kalyanji Fair
(D)  Shri Mahavirji Fair
(

E)  Question not attempted

A, B and C entered into a partnership by making
equal investments. After 2 months, B made an
additional investment of 50% of his initial
investment and C made an additional investment of
20% of his initial investment. If at the end of the
year, A received X 22,800 as his share in the profit,
then find the total profit.

(A) 80920 (B)
(C) 78,600 (D)
(E)  Question not attempted

< 81,700
% 79,500

Who among the following is the Padma Shri
awardee for the year 2025 from Rajasthan ?

(A) Gulabo Sapera
(B)  Avani Lekhara
(©)  Munna Master
(D) Begum Batool
(

E)  Question not attempted



54. e e BROTH BT :
Trferiad faeredt # 9 Few U ST I :
(A) T H Tarefiterd i srferar
(B) T WiCTRTa™ St rterapar
(©) T o g 3 I 3rfershar
(D) Yo | ST b S1ferehar
(B)  3rqaRd e
55.  wugeX faem uivwites sreraet #, ww R S
(SMTP) BT &I E :
(A) U A g Wethi
(B) I A AT WIS hict
Q) THIS 7 AW TIShIc
(D) | A IS Wehict
(B) 3raRd wed
56. T TareheT o I XY 2 5,700 T H T | T TR I
I 14% T AT §IT 3 AL T I 5% &1 g5 1 39
T AT H I G ATH 7T &1 FTT2rel 1t ¥ |
(A) T 41, (B) AT 32 o
2 11
(C) @TH11% (D) @™ 3% %
(B)  3rqaRd e
57. 2,500 I T WTLTOT ST IR 3 T H T 3,250 &I AT
F| ST TR T, SHY ST 2 99 BT TehglE AT T
ZTT 2
(A) T525 (B) ¥ 550
(C) 500 (D) %510
(B)  3rIana e
58. WA WU BT BIA-HT T HITeTsh Perel o
HEtaE ?
(A)  ITTEST244 A (B) 3T®I51
© =T42A (D) =51 A
(B)  3rIand e
% DB29 11

54.

55.

Jaundice is caused due to :
Choose the most appropriate answer from the
options given below :

(A)  Excess of bilirubin in the blood
(B)  Excess of potassium in the blood
(C)  Excess of uric acid in the blood
(D)  Excess of hemoglobin in the blood
(E)  Question not attempted

In computer science terminology, the full form of
SMTP is :

(A)  Simple Mail Transport Protocol
(B)  Source Mail Transfer Protocol
(C©)  Simple Mail Transfer Protocol
(D) Source Mail Transport Protocol
(E)  Question not attempted

A dealer sold two items for ¥ 5,700 each. On one
item he gained 14% and on the other item he lost
5%. Find his profit or loss percentage in the whole
transaction.

1 2
(A) Profit 4—% (B) Loss 3— %
2 11
7
(C) Profit11% (D) Profit 3H %
(E)  Question not attempted

A sum of ¥ 2,500 on simple interest becomes
% 3,250 in 3 years. What will be the compound
interest on the same sum at the same rate of interest
after 2 years ?

(A) X525 (B) X550
(©) X500 (D) X510
(E)  Question not attempted

Which of the following Articles of the Constitution
of India deals with the Fundamental Duties ?

(A) Article244 A (B) Article 51
(C©) Article42 A (D) Article51 A
(E)  Question not attempted

P.T.O.



59.

60.

61.

62.

63.

2009 H HIT # [FT I & &+ H T aUEAATHD
JTTIST 3TE 2

(A)  FEA A

(B) Ol ot

(©) =i qd

(D) S

(B)  3raRd 99

1428 H BIT-H Bl ¥ Bl TEAT B STgd I I
@3, 4, 5 3R 6 A Yoia: fervmeer gRTT 2

(A) 18 B) 9

© 12 (D) 15

(B)  3raRd 9o

HITS T AT e R F=AT3H B TEaqT= H WETH
JUHTT HIA-ATE ?

(A) THTHEL (SSD)

(B)  ®THI3M. (BCR)

(©) 3WTAIW. (OMR)

(D)  3THL3W. (OCR)

(

E) 3raRa ued

TR 1 g faea ghe, Tt e fasa gg &
ST ST 6 T b STA-TTHT 9 % B F IUAAT
eI, 2

(A)  TeEHE

(B) Fn!

© fuster

(D) IR

(B) 3raRd wed

fereferia & @ @i forartaa sioft § Gereps 3l @at
H 3P ARIETH & [T 2024 F FroM= RN H
FHATE fFT T R 2

(A) 3T

(B)  SE=ia fag
©) SHfq IR
(D) eI FETEE
(B) 31 aRd e

% DB29 12

59.

60.

The collapse of which bridge in Kota in 2009 caused
a major infrastructural disaster ?

(A) Chambal Bridge
(B)  Sattapol Bridge
(C©) Chandpole Bridge
(D) Daiji Bridge

(E)

Question not attempted

What is the least number which should be added to
1428, to get the resulting number exactly divisible
by 3,4,5and 6 ?
(A) 18
< 12
(B)

B) 9
(D) 15
Question not attempted

Which device is able to recognize alphabets and
numbers printed on paper ?

(A) SSD
(B) BCR
(C) OMR
(D) OCR
(

E)  Question not attempted

The famous lake of Rajasthan which was used as a
sea-plane base for about 6 years during World War-
Iis:

A)  Rajsamand

B)  Nakki

Pichola

D) Anasagar

E)  Question not attempted

Who among the following is the recipient of
Dronacharya Award for outstanding coaches in
Sports and Games - 2024 under regular category ?

>

(A) Annu Rani

(B)  Jarmanpreet Singh
(©)  Jyothi Yarraji

(

(

)

)  Sandeep Sangwan

E)  Question not attempted



64.

65.

66.

67.

68.

T BT T P I FATARTd HeT B3| | 64.
F=l I Rl IqTE (A o H)

76

80
75 +
70 +
65 +
60 +
55 +

50 - 2013-14 2014-15 2015-16 2016-17 2017-18 2018-19 2019-20 2020-21

Tirscet T &t AT H Fd FF & SATGA H TIBAH

ELE=S HggR |

(A)  2016-17 (B)  2019-20

(C) 2017-18 (D)  2020-21

(B)  3rfana ued

T &7, FfaRad & o Si-91 fSter ariesm=
& T AT TSI & BIATE ?

(A)  werrEr (B) TR

©) s (D) HTR

(E) a-ﬁﬁ—rr T

T T BT AT T, & T Bt STRATT & HROT
T :

(A) AT & TS
(B) FlesmHwEe
(O wifsTAATEE

(D) S 3ifaTES

(B)  3raRd 99

Tered TarfeRor fgaw 2025 ffaiad # & fhe g5 o
T2 €T g B U AATT AT 2

(A) TS AT BT HIETI

(B) 3T BT aTR R qAe o=

(C) S fereeit gSTTTeraT BT HIGToT

(D) wATRE® WEOT BT TATH HIAT

(B)  3rfaia s

ST 3. AT (2005) Bt FATTREd # & 67
TR # T & TS BT A B BT AT & 2

(A) w8 (B) w12

© urr3 (D) emT4

(B)  3raRd wed

% DB29 13

65.

Study the graph and answer the following

question :

Production of Raw wool (in Metric Tonnes)

80 +
76

75 + 73
70 + 68

65

65 +
60 +

55 +

50 -

2013-14 2014-15 2015-16 2016-17 2017-18 2018-19 2019-20 2020-21

The maximum rise in the production of raw wool
with respect to previous year :

(A) 2016-17 (B) 2019-20
(©) 2017-18 (D) 2020-21
(E)  Question not attempted

Which of the following districts of Rajasthan does
not share a border with Pakistan ?

(A) Phalodi (B) Sriganganagar
(©) Barmer (D) Bikaner
(E)  Question not attempted

The red colour of red soil is primarily due to the
presence of :

A)  Oxides of nitrogen

B)  Calcium carbonate

Sodium nitrate

D) Oxides of iron

E)  Question not attempted

The World Environment Day 2025 was celebrated
with a special focus on which of the following
issues ?

(A) Marine species conservation

(B)  Ecological restoration of wetlands
(C)  Conservation of big cat species
(D)  Ending plastic pollution

(E)  Question not attempted

Which of the following sections of the RTI Act
(2005) has the provision for exemption from
disclosure of information ?

(A) Section 8 (B) Section 12
(C)  Section 3 (D) Section 4
(E)  Question not attempted

P.T.O.



69.

70.

71.

72.

73.

AR # [T T it [ aRug $7 959 391 $
ToTT A TaeT MY FTE ?
3599 (B)
2599 (D)
FTART T

T Tt BT’ H T qRY 3T Fet Thas
TAEHE 2

(A)
©
(E)

4599
30 a9

(A) a3t aEdr
B)  Trem 3T HeT
C)  THANTHET

D)  WITaT 09T 3T Test

E) I aRd 99T

T MEH Fr AEe’ 9t FEfRed § ¥ feed
Hafae ?

(
(
(
(

(A)  ufdet fags

(B)  STIeT 1 WIS bl AT BT
©)  Shyor-afees A=A

(D) Fe-gd AT

(B) 3raRd wed

frfeiaa & 9 fopd Ardstes Amel & 849 § o
ET-2025 H FHAT( FATITATE ?
(A)  =THATEE

(B) T ITHETd WSO

©) = darm e

(D) st gefict AR A

(B) 3raRd wed

TS 379t FHT frfertaa # 9 e Toa/9g
TT-63 % HT TS HLATE 2

(A)  feeet (B)
© demw (D)

(B)  3rIand wed

fenTae weer
HERTS

% DB29 14

70.

71.

72.

73.

What is the minimum age requirement to be a
member of the Vidhan Parishad (Legislative
Council) of a State in India ?

(A) (B)
© (D)
(E)

35 years 45 years

25 years 30 years

Question not attempted

In the “Turra Kalangi Khyal” what do the famous
‘Turra’ and ‘Kalangi’ symbolize ?

(A) Shiva and Parvati

(B) Radha and Krishna

(©) Ram and Sita

(D) Lord Ganesh and Lakshmi
(

E)  Question not attempted

The ‘Mavath’ rainfall of the Rabi season, is
associated with which one of the following ?

(A)  Western disturbances
(B
(C
(
(

~

Bay of Bengal Monsoonal Winds

South-West Monsoon

~

D) North-East Monsoon

E)  Question not attempted

Who among the following, has been conferred the
Padma Bhushan-2025, in the field of Public
Affairs ?

(A)  Shri Ram Naik

(B)  Smt. Arundhati Bhattacharya
(C©)  Dr. Sitaram Jindal

(D)  Shri Sushil Kumar Modi

(

E)  Question not attempted

Rajasthan shares its boundary with which one of the
following States/Union Territories ?

(B)
(D)

(A) Delhi
©

(E)

Himachal Pradesh
Punjab Maharashtra

Question not attempted



74.  FEI-1 IR FEI-2 FT HATH BT :
-1 -2
AT U F A | (VT SYUTGRT I
5 1 Ryfe) e TSIel T THTY)
(@) [3FAW i) |sr  (fawaria)
EINICE]
(b) |FFATHE Q)W | (ii) |TXT & THH MMHR
T fcrterar
() | ®IHH (F) 3T g | (iii) |srid o1y (fog-
(P) F T H 3R BT WA TI)
(d) |EsRdaTSg (C) WU | (iv) | a5 ¥ BT Fidtes
T T 7T Tashedt & A WY 3T BT TF= HITATC :
(A)  (a)-(iid), (b)-(i), (o)), (d)-(iv)
(B)  (a)-(i), (b)~(iii), (0)-(iv), (d)-(i)
©)  (a)-(iv), (b)=(ii), ()-(i), (d)-(iii)
(D) (a)-(ii), (b)-(1), (€)-(iv), (d)-(i)
(E) RG]
75. U AT AT A # 8 km/h F AT TATHAHATZ | TS
TS HIRTBIIT 2 km/ h AT T = 76 AT
AT 3N ATRT 379 | 2 G BT 7Y o971 g, v 8
AT TRt X (km #) TR E ?
(A) 76 (B) 775
Q) 725 (D) 75
(B) 31 aRd e
76. fTETaREd § ¥ B9, TORAT |, BHSAT 9T &
TEATIH E 2
(A)  THITST
(B)  IEARTOTSI
(©  HAfcaATISIT
(D) Tt
(B)  3raRd e
77. ST 3R GLHA H TTIT THT ATHA H, AT BT
ST FATEHR FI BATE ?
(A) T FH I AT
(B) TS 3= T & ST ~ATIATENLT
© e
(D) w9
(B) 3raRd wed
% DB29 15

74.

75.

76.

77.

Match List-1 with List-2 :
List-1
(Position of object in
front of concave
mirror)

(@) |AtInfinity ()

List-2
(Size of image formed
by concave mirror)

Enlarged

(b) |At the Centre of|(ii) |Same Size as the

Curvature (C) object
(c) |Between Focus (F) | (iii) |Highly
and Pole (P) diminished (point
sized)
(d) |Beyond Centre of |(iv) |Diminished

Curvature (C)
Choose the correct answer from the options given
below :

(A) - (@)=(iid), (b)-(ii), (c)-(1), (d)-(iv)
(B)  (a)-(ii), (b)~(iii), (c)-(iv), (d)-(0)
(©)  (@)=(iv), (b)=(ii), (c)-(), (d)~(iii)
(D) (a)-(ii), (b)-(0), (c)-(iv), (d)-(ii)
(E) uestion not attempted

A man can row a boat at 8 km/h in still water. If the
speed of water current in the river is 2 km/h and he
takes 2 hours to row to a place and come back, then
how far off is the place (in km) ?

(A) 76 (B) 7.75
(© 725 (D) 75
(E)  Question not attempted

Who among the following is the founder of the
Kamadia Panth in Rajasthan ?

(A) Ramdeviji

(B) Devnarayanji

(C©)  Mallinathji

(D)  Pabuji

(E)  Question not attempted

Who acts as the principal advisor to the Chief
Minister, on all matters of policy and
administration ?

(A)  Chief Secretary of the State

(B)  Chief Justice of the State High Court
(©) Home Minister

(D) Governor

(E)  Question not attempted

P.T.O.



78.

79.

80.

81.

82.

R = wep wdier # 259 37 U fpU 37N 9% 15 37
T ITRIOT T TS ST SAT + IAT T8 7 40% 3iF
ure T STt =gHaw St ¥ 15 3iw srfue 2
ATH IR E -

(A) 40 (B) 50

C 65 (D) 55

(B)  3rIaia e

ITT AT F {W e gl & A,
WA BT TS T § TrHST BT e

(A) AR & T TN

(B) B

(©)  werHT

(D) H@rHA

(B)  3raRd 9o

frfetiad 7 & fope, TR &A@t & &9 H
T TR IA AT 2

(A) 3 e ST
(B)  SWT=TY wETREAT
()  ERTeTS T
(D)  SYHTIH UTATATA
(B)  3raRd e

IR, TaxieTg, TSEHE 3 TR TSI &

frafafaa d 9 e g s femn® 2
FrAfeTiaa faeheat 3 & W Y I A :

[AH

(A)  #HaTg (B) waT®
(©)  =gHdt (D) &t
(B)  3rIand e

THIHIIT F 7 IO % R, J&g (IT) TSI HT
TS EIMAT:

(A) 30 ATH 1951 (B) 30 A= 1952
(C) 30 AT 1949 (D) 30 TH 1950
(B)  3rIand wed

% DB29 16

78.

79.

81.

82.

Riya scored 25% marks in an examination and failed
by 15 marks while Nancy scored 40% marks in the
same examination and got 15 marks more than the
minimum passing marks. The minimum passing
marks are :

(A) 40
(C) 65
(E)

(B) 50
(D) 55

Question not attempted

For appointment of the Chief Justice of a
High Court, the President of India consults
the :

A)  Chief Justice of India

B)  Union Home Minister
) Prime Minister
D)  Chief Minister

(
(
(C
(
(E)  Question not attempted

Who among the following, had taken oath three
times, as the Chief Minister of Rajasthan ?

(A) Bhairon Singh Shekhawat
(B)  Jagannath Pahadia

(C) Heera Lal Shastri
(
(

o

)  Tika Ram Paliwal

E)  Question not attempted

Udaipur, Chittorgarh, Rajsamand and Dungarpur
are part of which of the following regions of
Rajasthan ?

Choose the most appropriate answer from the
options given below :

(A)
©
(E)

Mewar Marwar

(B)

Hadoti (D) Braj

Question not attempted

During the 7 stages of its integration, Greater
Rajasthan was formed on :

(A)
©
(E)

30th March 1952
30th March 1950

30th March 1951  (B)
30th March 1949 (D)

Question not attempted



83. frtafad # ¥ fvw wrdia o0 & adwm & fgmet
T A8 2
(A)  TEH (B)  sRmom
C) T (D) fuEr
(B)  3raRd e

84. 15 STTERY 2025 I AT feaw wal am@TIET ?
(A) TR (B)  vraTETe
© gor (D) foeett
(E) SraRa ued

85. ferAfeTiae # & S IH-JT STYET TSTEATHT ToF 379+
BT H TEATE ?
@A) Fw (B)
© W (D) &gl
(B) 3raRd wed

86. WA HITeT & AN, S AT T farer=wesa
BTG &I &, IH 7 Frger fopan ST aehar g, aifee
RICACER TR ESIC R0 i S o 1 k=
e ea &1 e faftad 98l gar g, af 39 ue
BIgATISAT 2 |
(A) 1598 (B) ¢wE
© 12%E (D) gwTE
(B) 3 aRd e

87.  ITSTRUTH % WEeYol e, T, qA-F I T T2 5
FIGER R
(A) TG (B) W
(C) TR (D) &R
(B)  3rfana e

88.  HEWTOT w1 ST FTha “Tasta wiw’, frfaRaa #
¥ fp fper o Rera g 2
(A) ARG (B) smTE
© PR (D) faieTe
(B) 3raRd wed

% DB29 17

84.

86.

88.

Which of the following Indian States currently does
NOT have a bicameral legislature ?

(B)
(D)

(A)
©
(E)

Karnataka Haryana

Telangana Bihar

Question not attempted

Where was Army Day celebrated on 15 January
20257

(A)
©
(E)

Guwahati

Delhi

Bangalore

(B)
Pune (D)

Question not attempted

Which one of the following articles of jewellery is
worn by Rajasthani men in their ears ?

(B)
(D)

(A)
©
(E)

Choonp Mundri

Murki Hansuli

Question not attempted

Under the Indian Constitution, a person who is not
a member of the State Legislature may be appointed
as a minister, but if he/she is not elected to the State
Legislature within from the date of
appointment, he/she must vacate the office.

(A)
©
(E)

15 months 6 months

(B)

12 months (D) 8 months

Question not attempted

The important saint of Rajasthan, Pipa, was
originally a ruler of :

(A)
©
(E)

Kumbhalgarh (B)

(D)

Bhangarh
Gagron Lohagarh

Question not attempted

The “Vijay Stambha’ built by Maharana Kumbha is
found in which one of the following forts ?

(B)
(D)

(A)
©
(E)

Junagarh

Kumbhalgarh

Jaigarh
Chittorgarh

Question not attempted

P.T.O.



89.

90.

91.

frfaRad # o F9-Tt TR s #t 7S

fergroramatt # enfHe 7 E 2

TrrTTeTRE Tarshedt # 9 W SUgaR 3T I

(A) TR I IAH A S I THG FHT RS
FarsroT

(B)  vTpla® Higd 3T ARY TWigd &7 Toira Faaron
ST s w1 FIfyTee Ugam= ST e

(©) Ta=t ¥ “wfem’ 3R YR’ S0 | STiad [
TR

(D)  TrorATT Ta=rhelT T Haell, Tohetl, Higal 31|

EATeTdl | WSt Ueei= &l gtar
(B)  3raRd e

1615 H HaTS-3T Wi, STENTR 3T Fopes o= g8
ot 2

oTT 357 e
(B) wHERTOMEHFEAT
HERTOM T g
0T 3T 8-

(B)  3rqaid e

INTAA TITHTAT 6 ThH RT H ARTTG Taid wiet Rera

27

(A) IO IR G
(B)  STéTor-gelt uart &=t
(©) e T &
(D)  feroft sRrarett gt

(B)  3rIand wed

% DB29 18

91.

Which one of the following is not a main feature of
Rajasthani painting ?

Choose the most appropriate answer from the
options given below :

(A) The amatory (sringarik) depiction of seasons
and their impact on human life

(B)  Vivid depiction of natural as well as feminine
beauty gives Rajasthani painting a distinct
identity

(C) Use of vibrant colours in the portrayal of
‘bhakti” and ‘shringaar” in paintings

(D) Rajasthani painting is not publicly displayed
in palaces, forts, temples and havelis

(E)

Question not attempted

In 1615, the Mewar-Mughal treaty was signed
between Jahangir and :

(A) Rana Uday Singh
(B) Maharana Kumbha
(©) Maharana Raj Singh
(D) Rana Amar Singh-I

Question not attempted

In which part of the Aravalli range, is the Taragarh
mountain peak, located ?

(A) Northern Aravalli Region

(B)  South-Eastern Plateau Region
(C) Central Aravalli Region

(D)  Southern Aravalli Region

Question not attempted



92.  TISTEATH ¥ T Taet ST BT 19 TaTgT foTe ue
IR =6 A FATTA TR T T 2
(A)  fad dfee 3% BavaTd
(B) e faspa aa
(C)  HuAT EIAER Aol e firg
(D) =g StrgTy fg
(B)  3raRd e
93.  wd # Tl T b wetliraeT (Vgaihe SAeT) ®i
frafm s a2
(A) 3T I HTITITH
(B) et
©) 3T T FHTHEHA
(D) ST FHTHA HAT
(B) 3raRd wed
94. A x+y=10, y+z=83Mz+x=24F, Az, y 3 2
HTINTATL :
(A) 9 (B) 14
© 7 (D) 10
(B) 3raRd wed
95. UFH AR A T 21 H 4 BN I T FW SpAT T IR
3% T 13 H 2 BT ST A o foAT| 3 AN aeed H 39
% 180 BT 3T | IW Fpa=1 SIepat WIaT o ?
(A) 140 (B) 132
© 150 (D) 144
(B)  3raRd e
% DB29 19

92.

94.

Name the first person who belonged to Rajasthan
and he was awarded the Param Vir Chakra ?

(A) Second Lieutenant Arun Khetarpal
(B) Captain Vikram Batra

(C) Company Havildar Major Piru Singh
(D) Naik Jadunath Singh

(E)

Question not attempted

In India, the Advocate General for a State is
appointed by the :

(A) Governor of that State

(B)  President

(C)  Chief Minister of that State
(D) State Minister of Law

(E)

Question not attempted

If x+y=10, y+z=_8 and z + x =24, then the average
of x,yand zis:

(B) 14
(D) 10

Question not attempted

A man bought some sweets at the rate of 4 for I 21
and sold them at the rate of 2 for X 13. In the whole
transaction he gained X 180. How many sweets did
he buy ?

(A) 140 (B) 132
(© 150 (D) 144
(E)  Question not attempted

P.T.O.



96. A qAT B TieTsy Rt 1 &t 10 59  #T T &;
BauTC e sftsm a2 e A s uha &, ST
A TATC AR ST 15 T A mTha 21 afg A, B AT
C e B8 B Ot I Tobad TAT § I BTH Bl BT
o ?
(a) 8fed (B) S%ﬁﬁ
© 7%= (D) 7%%?
(B) 3TARd 99

97. WRA HI FWOET (2011) F IAR, TRAT F
frferiaa 9 9 fopw TS &) STHET # 29T ar gig
3T (2001-2011) T H T FHH AF 2
(A) g (B)  STRRTR
© e (D) et
(B)  3rfana ued

98. THerTE-gag g TRISHT, 15T €9 W TS F
frtarad ® 9, 768 8= &1 arii=ad Sl & ?
(A)  3TR (B) WAL
© &R (D) TdR
(B)  3rqaRd e

99. FTREd o & BIH-HI 9o A3 T TETF TSI TE
g9
(A)  wTeniae (B) =&t
© T ™ (D) ot
(B) 3raRd wed

100.  ITETIEIERT AT TSTLATH & ThH G151 H T TeTd Teh lieh
e et g 2
(A) IR
(B) WA
Q) SR
(D)  3rEax
(B)  3rfand e

% DB29 20

97.

98.

100.

A and B together can do a work in 10 days; B and C
together can do the same work in 12 days whereas
A and C together can do it in 15 days. How long will
A, B and C take to do the work if they work
together ?

1
A) 8 days B) 8— days
y 5 y

1
(C) 7days (D) 75 days

(E) Question not attempted

As per the Census of India (2011), which of the
following districts of Rajasthan had the lowest
decadal population growth rate (2001-2011) in
percentage ?

(A)
©
(E)

Dausa

(B)
(D)

Sriganganagar
Barmer Karauli

Question not attempted

The Sidhmukh-Major Irrigation Project primarily
benefits which of the following regions in
Rajasthan ?

(A)
©
(E)

Alwar

(B)
(D)

Bharatpur
Hanumangarh Bikaner

Question not attempted

Which of the following rivers is not a tributary of
the river Chambal ?

(A)
©
(E)

Kalisindh Mahi

(B)

Banas (D) Parbati

Question not attempted

Alibakshi Khayal is the prevalent folk drama of
which region of Rajasthan ?

(A) Udaipur

(B)  Jaisalmer

(©)  Jodhpur

(D) Alwar

(E)  Question not attempted



101.

102.

103.

104.

105.

106.

107.

‘GLOBALIZATION’ & feTq Sueer f&at arsa 2 :

(A)  JedremIor (B)  sr&dimor

@  fargimr (D) sefpeor

(E) arTana wed

‘I + TV BT E BN

(A) FEr (B) <

© = (D) =

(B) 31 aRd wed

Teh ST T § 1T 707 A&V £ =17 2
(A) gt (B)  yofar

(©)  asear (D) Tre=aTeThar
(E)  3rqaid ued

FAHR AT H HIT-ATITFN Y 2

A) (B) =X

© (D) T

(E)  3raRa ued

3T T ST ATH TIALE’ TR BT 2 :
A)  3fE iR BTl &

B)  37Er e BT HTAGT BT

Q) oni & faeg A AT

D)  3[uri & ey sferm g

S~ e~ e~ e~

E)  3rand ued

TrfeTRad eTeat # & FHEaT= Tl BT IFTERV(E :
(A) 5T (B)  w=uA
(OEERCECH (D) AT

(E)  3rgaid ued
Tt # @ fagersT areg 2

(A) et (B) Fatgan

© g (D) dgam

(E) 3rfaRa ued

108.

109.

110.

111.

“Sferat TEHTAT HETa FTNTE
(A) 1Y geR-e AT

(B) =R Al BT &I AT

(©)  HHHAT AT

(D) St ol FUR-SeR AT
(B) Irgana wed

TIERT 9 #§ et & T g9 ¥ fegent
ERISIGIES

(A) TR (B)
©) wasH (D)
(B) 31N ued

fr=feriad & o fope oo & wpd fopam &1 T
TR g 2

(A)  SETIETETR

B) #fed geRm@rz|

C) e fohshe @aar 2|

D) oz faer ygraT 2|

E)  3raRd 9

TrTeTRad oTegl # o “ 3RV’ T8 T qagaT< A&k
g

@ 9

LRIED]

IEEA]

(
(
(
(

(I  FEA

(I T

(IV) SHTet

(V) fafw

= ferg o ferpeatt # & W ST ST B =TI
BT

(A) A (1) 3 (V)
(B)  ad (1) 3 (V)
(©)  Faa (11) 3T (IV)
(D) et (1) 3R (1)
(B) 31 wed

P.T.O.



112.

113.

114.

115.

116.

T’ 9T % fU Shaa AT g -
ST TteTT o e < &
SRt e
et adtem &l St aesr E
[EREIERIRE IS FECI R R
TTANT T

TrTeTiEd % & -1 AT,  BqaqAg BT’ BT
IIEIITE ?

U, AR [EF T |
qgH A A TR L |

eI Q&R T H It 2 |

TE AT 3 IR T Tt e |

AR 99
frfafEa i d s ast:

(A)
(B)
©)

(D)

TareraTs

(B) ST wed
TrrTetiare o A B -1 e # AT eI & 2
(B)
(D)

T
LETE
(B)  SrIand wed

TTET | — 3 Tt & Hi-TT fTeToroT Joger g3 e 2

120.
(A)  IToTETE faReT
(B)  qrdATHe ferareor
(C)  HwHTaTH Ty
(D)  ORHETOTET faLrwor
(B)  SrIana wed
-00o0-
22

% DB29

117.

118.

119.

“garer’ T AT S B

(A)  FRag (B) W&

© =M (D) 3mgY

(B)  Irgana wed

“ifepen’ 9Teg # T TIT & :

(A) & B) TH

© =% D) Tus

(B)  Irana wed

-1 1 FA-2 F T AT BT

-1 -2

(FIATH) (GIERIEEEIED))

(a) [TouaTaH (i) |[eTrdrHi TS 2
AT

(b) |srfemmaras  |(D) [H U9 M9 =@
AT ST |

(c) |FeaT=® (iii) [P ERTT |
TdT

CIREERICES (iv) |3TSTheT I8 9TTd L&t
EEEi) z

e fw aTe oot # & e SUYER I B 99T
HITT :

(A)  (@)-(iv), (b)-(iii), (c)-(ii), (d)-(0)

(B)  (a)-(ii), (b)-(iv), (c)-(iii), (d)-(i)

©  (@)-(v), (b)-(iii), (c)-(i), (d)-(ii)

(D) (a)-(iii), (b)-(i), (c)-(ii), (d)-(iv)

(B)  3rand wed
frfafad d T s I g

(A) Y H! faaT wHgT & 3T |

(B)  WTTEeT T STt 1 Gi+ss A% |
()  #XfoTT St oth 3R T ST AT |

(D)  SEAF=-IT YT IS |

(B)  3raRa wed




% DB29 23 P.T.O.
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